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2) Write an equation for the line through the points (-1,5)
and (0,3).
ﬂeca“ ﬁ \'Iﬁe.. ‘ﬂaﬁg{ﬂg “’l’\fo‘-’ﬂ‘f\ ('}(L}(ji) ) (‘Xz_}(jz__-) \[\95

slope. = 32732 eqn, 3"—1%(7(*—%13*31_
Xo—%1

-3
§a}we ha"r‘c:. 3]@6)& f"f\:‘:g *Z"“?—r

(-

g

Theo, the Sine - g:-‘~—2-(><+i—)+5

~)
(f_)XEﬂA .[J\e. et{'ﬂ- ,C:,r ‘H\& (O)Vﬁf&rm\ \?nejoncl.(‘a) -H\e \\or?;m%\ }me
theovqh Ahe foint (-1,0).



4) Find the egn. for the line through the point P(-1,3) that
is perpendicular to the line y+x+2=0. Find the x and y-
intercepts of this line.
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5) Describe and sketch the regions defined by the
followings:
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6) Find the points of intersection of the pairs of curves
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/) Write an egn. of the graph obtained by shifting the

graph of 4= {x
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8) Find the domain and range of each function and
sketch their graphs: 1
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(9) (a) How is the graph of y=f(|x|) related to the graph

of y=f(x) ?
(b) Sketch the graph of y= sin(|x|).

(c) Sketch the graph of 4= §ix(".
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(b) Given Fod) =sin (x—S) find functions f,g, and h such
that = _ ,p,,_.,j -
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